
6/9/22	 Instruction P/N 610-17200-02	 page 1

FLOE SHALLOW WHEEL KIT
P/N 510-17200-02 / 510-17210-02
ASSEMBLY INSTRUCTIONS AND OWNERS MANUAL FOR 4’, 
5’, 6’ & 8’ WIDE DOCK SECTIONS
For use in approx. *13”- 30” of water

Manufactured by:
FLOE INTERNATIONAL, INC.
48473 State Hwy. 65
McGregor, MN 55760
www.floeintl.com

Shallow wheel kit 
fully extended

Shallow wheel kit 
fully collapsed

8" RANGE OF
ADJUSTMENT FROM

TOP OF DOCK 

22"
WATER
DEPTH

30"
WATER
DEPTH

13"
WATER
DEPTH

9" RANGE
OF MANUAL

ADJUSTMENT

*8"

*8"

*8"

* We recommend that the lower dock 
frame is a minimum of 8” above 
the water when properly adjusted. 
However, if you have high wave 
conditions that commonly exceed 
15” we recommend that you raise 
your dock accordingly.

Never adjust your dock legs with an 
impact wrench. Never adjust your dock 
legs with more than 15 ft/lbs of force. 

Applying too much force to your dock legs 
will damage the mechanism.

WARNINGTools Required:
(2)	 9/16” wrenches or sockets	 Pliers
	 7/32” allen wrench	 Level
	 2’ square	
	 Cordless drill with socket adaptor
	 and 1 1/8” socket or FLOE Speed Wrench



page 2	 Instruction P/N 610-17200-02 	 6/9/22

FLOE SHALLOW WHEEL KIT COMPONENT LIST (PAIR)
P/N 510-17200-02

(2) Shallow wheel kit assemblies
P/N 110-00145-02

(2) Dock quick connects
P/N 002-02080-00

(1) Shallow hardware kit
P/N 001-02311-00

Item	 Part # 	 Qty 	 Description 	 Step #
	 1-------001-70113-00-----2-----3/8” x 2 1/2” bolt ss--------------------3
	 2-------001-70119-00-----4-----3/8” x 4” bolt ss-------------------------1
	 3-------001-71017-00----10----3/8” SAE flat washer ss--------------1
	 4-------001-26728-00-----2-----Stainless steel spindle clip----------2
	 5-------001-76349-00-----6-----3/8” aluminum nut---------------------1
	 6-------006-13200-00-----2-----Plastic dock cap------------------------3
	 7-------002-02080-00-----2-----Dock quick connect-------------------3
	 8-------010-06001-00-----2-----Plastic dock wheel---------------------2
	 9-------110-00210-02-----2-----Shallow wheel kit assembly---------1
	 10------010-00020-00-----2-----2 1/2” washers--------------------------2

Located in 
hardware kit

Located in 
hardware kit

SOLD SEPARATELY

Plastic dock wheels
Drilled 010-06001-00

Floating 010-06002-00

P/N 110-00210-02



6/9/22	 Instruction P/N 610-17200-02	 page 3

FLOE SHALLOW WHEEL KIT COMPONENT LIST (SINGLE)
P/N 510-17210-02

(1) Shallow wheel kit assemblies
P/N 110-00145-02

(1) Dock quick connects
P/N 002-02080-00

(1) Shallow hardware kit
P/N 001-02310-00

Item----Part # ------------ Qty --Description ------------------------ Step #
	 1-------001-70113-00-----1-----3/8” x 2 1/2” bolt ss--------------------3
	 2-------001-70119-00-----2-----3/8” x 4” bolt ss-------------------------1
	 3-------001-71017-00-----5-----3/8” SAE flat washer ss--------------1
	 4-------001-26728-00-----1-----Stainless steel spindle clip----------2
	 5-------001-76349-00-----3-----3/8” aluminum nut---------------------1
	 6-------006-13200-00-----2-----Plastic dock cap------------------------3
	 7-------002-02080-00-----1-----Dock quick connect-------------------3
	 8-------010-06001-00-----1-----Plastic dock wheel---------------------2
	 9-------110-00210-01-----1-----Shallow wheel kit assembly---------1
	 10------010-00020-00-----1-----2 1/2” washers--------------------------2

Located in 
hardware kit

Located in 
hardware kit

SOLD SEPARATELY

Plastic dock wheels
Drilled 010-06001-00

Floating 010-06002-00

P/N 110-00210-02



page 4	 Instruction P/N 610-17200-02 	 6/9/22

FLOE SHALLOW WHEEL KIT EXPLODED VIEW
4’ WIDE DOCK SHOWN

8

9

9
8

52 3

2 3 5

Outer leg (Ref.)

Middle leg (Ref.)

Inner leg (Ref.)

Inner leg manual adjustment bolt
3/8" x 3/4" ss bolt and 3/8" nut

pre-installed in wheel kit legs

6

4

4

1 3 5

10

10

7

1/2” 1/2”



6/9/22	 Instruction P/N 610-17200-02	 page 5

FLOE SHALLOW WHEEL KIT EXPLODED VIEW
8’ WIDE DOCK SHOWN

8

9

9

8

52 3

2 3 5Outer leg (Ref.)

Middle leg (Ref.)

Inner leg (Ref.)

6

10

4

4

10

- - - - - - - - - NOTE - - - - - - - - -
Shown with wheels turned in



page 6	 Instruction P/N 610-17200-02 	 6/9/22

Fig. 1a

STEP 1 - - - - - - - - - - - 
1. Turn dock upside down and block corners to protect 

the deck surface.

2. Under normal conditions wheel kits are mounted 
as shown in Fig. 1a with the wheels facing out. If 
necessary, wheel kits may be turned 180° for boat 
lift clearance. Refer to Dock Owners Manual for 
special conditions on setting up your dock.

3. Insert wheel kit legs into the brackets that are pre-
installed on the dock.

4. Clamp the brackets to the legs using a 3/8” x 4” 
bolt, nut and (2) flat washers on each bracket. See 
Fig. 1b. Do not tighten bolts until both legs are 
assembled and all bolts are in.

Fig. 1b

Fig. 1b

- - - - - - - - - - - - - NOTE - - - - - - - - - - - - - 
Diagrams show 4’ wide dock sections. 
If you are attaching wheel kits to an 8’ 
wide sundeck reference the exploded 
view on page 5.

(May be turned 180°. If 
room is needed beside the 
dock for a boat lift. However 
some stability will be lost.)



6/9/22	 Instruction P/N 610-17200-02	 page 7

Spindle clip

Wheel

**Water depth Extend

13"-19" 2 5/8"
8"19"-25"

13"25"-30"

inner leg

Extended Inner Leg
(See leg adjustment chart)

Leg Adjustment Chart

Set bolt

When determining water depth, include 
the amount of settling that will occur if you 
have a soft or muddy lake bottom.

**

3/8" x 3/4" set bolt

2 1/2” Washer

Fig. 2a

STEP 2 - - - - - - - - - - 
1.	 Square the wheel kit leg(s) with the dock as 

shown in Fig. 2a and tighten all the nuts and 
bolts. Torque to 20 ft/lbs.

2.	 Slide the wheel(s) over the spindle on the 
wheel kit. Place a 2 1/2” washer over the 
spindle on the wheel kit. Insert leg of spindle 
clip in hole of leg spindle. Pull down on lower 
leg of clip until it snaps into the hole on the 
opposite side of leg spindle.

3.	 The inner leg should be adjusted now by 
loosening the set bolt as shown in Fig. 2b 
and extending the inner leg. See the chart 
below and Fig. 2b for approximate inner leg 
extension. Use this chart as a reference only. 
Never exceed 13” of extended length. Torque 
to 40 ft/lbs.

Fig. 2b
Extending their inner wheel kit leg more than 

13” can cause the dock to become unstable and 
reduce the structural integrity of the wheel kit.

WARNING

1/2” x 3/4”



page 8	 Instruction P/N 610-17200-02 	 6/9/22

Quick connect
3/8" flat washer3/8" nut

3/8" x 2 1/2" bolt

Quick connect

Raise Lower

Dock adjusting nut

or 1 1/8" socket

Vertical dock
support

Installation/Removal
Position (Allows sections

to pivot stress free)

Set Position

Plastic dock cap

46"

Side mounted
quick connects

Approximately

      Speed wrench 

Touching weld

1. Turn dock right side up.

2. Attach quick connects to the wheel kit end of the dock 
section if another section is to be connected to it. To 
attach dock sections in a straight line quick connect 
should be assembled as shown in Fig. 3a. When another 
dock section connects to a side of the dock quick 
connects should be placed as shown in Fig. 3c. Torque 
to 30 ft/lbs. Quick connects should be spread apart 
as far as possible to keep the joining section from 
shifting sideways.

3. Place connecting dock sections in the 
quick connect installation/ removal 
position when installing or removing 
multiple sections. Push the docks into 
position in the water. Once the docks are 
in position, put them in the quick connects 
set position. See Fig. 3b.

4. Using a FLOE Speed wrench 
or 1 1/8” socket and wrench, 
adjust the height of the dock so 
the bottom frame of the dock 
is approximately 8” above the 
water. *See note on sheet 1. 
Turn the dock adjusting nut on 
the top of the dock clockwise to 
lower and counterclockwise to 
raise. Use a level to make sure 
all dock surfaces are level. See 
Fig 3c.

5. Once the dock is set in place and 
leveled, insert the plastic caps in 
adjustment nut hole as shown in 
Fig. 3c.

STEP 3 - - - - - - - - - - - - - - - - - - - - - - - - - -

Fig. 3b

Fig. 3a

Fig. 3c

Never adjust your dock legs with an 
impact wrench. If you can not turn the 
adjusting nut, do not force it - you have 

reached the end of the adjustment range. 
DO NOT exceed 15 ft/lbs. Applying too 

much force to your dock legs will damage 
the mechanism.

WARNING

Cordless drill may come to a 
sudden stop when the leg is fully 
extended or retracted. Be sure to 
have your cordless drill in clutch 
mode when adjusting the legs. 
Use of a corded drill may cause 
electrocution. Failure to use drill 
in clutch mode may cause injury 

to your hand or arm.

WARNING



6/9/22	 Instruction P/N 610-17200-02	 page 9

FLOE INTERNATIONAL, INC.
DOCK SYSTEM 15 YEAR LIMITED WARRANTY

FLOE INTERNATIONAL, INC. warrants, to the original purchaser, the FLOE dock system to be free from original defects in materials and workmanship under conditions 
and loads for which designed, and from the date of consumer purchase, (or if a demo, from the date of first service), as follows:

New Warranty Guidelines - Effective September 1, 2004

Two-Year Parts and Labor Warranty
FLOE INTERNATIONAL, INC. will repair or replace, at their option, any portion of the dock system which fails as a result of a defect in material or workmanship during 
the first two years after the date of purchase. Items purchased by FLOE INTERNATIONAL, INC. are warranted by the original manufacturer and warranty is extended 
only to the original retail purchaser. FLOE INTERNATIONAL, INC. reserves the right to inspect and perform repairs at its main facility (F.O.B.) McGregor, Minnesota. 
This full two-year warranty includes parts and labor on the dock system and accessories including the following:
 
Aluminum frame structure, wheel kits, leg bracing, support poles, quick-connects, benches, ladders, and bumpers. 

Labor charges and mileage covered within 15 miles from FLOE or the authorized FLOE dealership performing the repairs. Additional mileage/travel charges will 
apply if travel over 15 miles is required. This charge is determined by the repairing dealer and must be paid by the customer to the dealer performing the repairs. 
Warranty does not cover damage, including broken welds, caused by improper handling, installation or removal, or any damage of any sort caused by the use of 
power equipment, such as vehicles used to remove docks.

Extended Parts Warranty
In addition to this two-year parts and labor warranty, additional warranty coverage applies to specific parts of the dock and accessories. All warranty coverage beyond 
two years is for parts only. Labor costs for any warranty claim are not covered past two years. 

Aluminum Dock Frame & Aluminum Dock Deck — 15-Year Limited Warranty
Defects in material and workmanship of structural components of the dock frame and deck are covered for 10 years from the date of purchase (excluding paint 
finish). FLOE will provide replacement parts, on a non pro-rated basis, for ten years from the date of purchase for these items if they are found to be defective in 
workmanship. After this 10-year parts warranty, an additional five-year pro-rated warranty covers these components as shown below. Aluminum decking warranty 
does not include paint wear, scratches or denting.

	 Year After Purchase	 Consumer Portion of Current Retail Price
 	 11	 40%
	 12	 50%
	 13	 60%
	 14	 70%
	 15	 90%

Carpet and Cedar Dock Decking
With the following exceptions, carpet, cedar and color fade dock decking is covered by the full two-year parts and labor warranty (above). On cedar decks, cracks and 
splintering are normal characteristics of wood and are not covered by this warranty. There is no further warranty over the two years on cedar deck docks.

In addition to the two-year warranty, carpet docks are warranted to be free from defects in material and workmanship on a pro-rated basis, for up to 10 years as 
shown below. Warranty does not cover fading, mildew, or wear. 

		  Consumer Portion 		  Consumer Portion
	 Year After Purchase	 of Current Retail Price 	 Year After Purchase	 of Current Retail Price 
	 3-5	 0%	 8	 60%	
	 6	 40%	 9	 70%
	 7	 50%	 10	 90%

page 1 of 2



page 10	 Instruction P/N 610-17200-02 	 6/9/22

Dock Accessories and Wheel Kit — 10-Year Limited Warranty
Defects in material and workmanship of certain accessories of FLOE dock systems are covered under a 10-year pro-rated warranty. Items covered in this 10-year 
pro-rated warranty include wheel kit legs, wheel kit braces, plastic wheels, benches (except cedar boards), bumpers, ladders, shore-end ramps (except cedar boards), 
support poles, and hammocks.

The pro-rated schedule of these items is as follows:

	 Year After Purchase	 Consumer Portion 	 Year After Purchase	 Consumer Portion
		  of Current Retail Price 		  of Current Retail Price 
	 3	 20%	 7	 60%
	 4	 30%	 8	 70%
	 5	 40%	 9	 80%
	 6	 50%	 10	 90%
	

Dock Floats – 12-Year Limited Warranty
Dock floats used on FLOE floating dock systems are warranted to the original owner against cracking, peeling, sloughing, and deterioration from ultraviolet rays, 
while retaining its resiliency against ice and bumps by watercraft under normal usage.

This warranty does not cover any float drum that has been subject to negligence, misuse, alterations, accidents, storm abuse or improper installation and support.

Floats are covered in the two-year parts and labor warranty. In addition, FLOE will provide replacement floats on a non pro-rated basis for the first eight years and 
then pro-rated as below. Replacement labor not included.

	 Year After Purchase	 Consumer Portion of Current Retail Price 
	 9	 60%
	 10	 70%
	 11	 80%
	 12	 90%

This warranty covers only the cost for replacement of materials due to defects in materials or workmanship, and represents the only warranty authorized by us. In 
order to receive performance under this warranty, all warranty repairs must be authorized in advance by FLOE INTERNATIONAL, INC.

Additional Warranty Information Including Exclusions and Owner’s Rights
FLOE INTERNATIONAL, INC. will not be responsible for any costs incurred for unauthorized repairs or improper assembly. Unauthorized repairs may void the warranty 
on items repaired! Warranty repairs are subject to a $20.00 customer (consumer) deductible co=payment. This warranty does not cover damage resulting from 
overloading of the boat lift, misuse, wind, storm or ice damage, (or any act of God), being struck by any type of watercraft, or negligence. This warranty covers 
personal use and does not apply to commercial or rental use. The manufacturer is not responsible for damage where repairs have been made or attempted by 
others. Items purchased by FLOE INTERNATIONAL, INC. are warranted by the original manufacturer and warranty is extended only to the original retail purchaser. 
FLOE INTERNATIONAL, INC. reserves the right to inspect and perform repairs at its main facility (F.O.B.) McGregor, Minnesota. The customer is responsible for freight 
charges incurred in transporting the warranty product to and from FLOE or an authorized FLOE dealership, with the exception of claims covered by the two-year parts 
and labor warranty that provides service up to 15 miles from the dealer. FLOE INTERNATIONAL reserves the right to inspect and perform rework at its main facility 
(F.O.B.) McGregor, Minnesota. Specifications may change without notice or obligation. 

Completing & Submitting Your Warranty Claim
To receive performance under this warranty, contact your authorized FLOE dealer. Be prepared to provide the following information so that the dealer can complete a 
warranty claim form: receipt and date of purchase; your name, address and telephone numbers; the serial or vehicle identification numbers; and a detailed descrip-
tion of the problem.

THERE ARE NO OTHER EXPRESSED OR IMPLIED WARRANTIES
Our obligations under this warranty are limited to repair or replacement at our discretion, and FLOE SHALL NOT BE LIABLE FOR INCIDENTAL OR CONSEQUENTIAL 
DAMAGES OF ANY KIND.

This Warranty gives you specific legal rights and you may have other rights which may vary from state to state.
page 2 of 2



6/9/22	 Instruction P/N 610-17200-02	 page 11



page 12	 Instruction P/N 610-17200-02 	 6/9/22


